
1

x =
5−

√
21

2
, y =

5 +
√
21

2
のとき，次の式の値を求めよ．

(1) x2 + y2

(2)
√
x−√

y
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【答】

(1) 23

(2) −
√
3

【解答】

(1) x2 + y2 = (x+ y)2 − 2xy

ここで

x+ y =
5−

√
21

2
+

5 +
√
21

2
= 5

xy =
5−

√
21

2
· 5 +

√
21

2
= 25− 21

4
= 1

であるから

x2 + y2 = 52 − 2 · 1 = 23 ……（答）

(2) (
√
x−√

y)2 = x+ y − 2
√
xy = 5− 2

√
1 = 3

0 < x < y より
√
x−√

y < 0であるから
√
x−√

y = −
√
3 ……（答）

• 2重根号を外すことを考えてもよい．

√
x−√

y =

√
5−

√
21

2
−

√
5 +

√
21

2

=

√
10− 2

√
21

2 · 2 −
√

10 + 2
√
21

2 · 2

=

√
(7 + 3)− 2

√
7 · 3

2
−

√
(7 + 3) + 2

√
7 · 3

2

=

√
(
√
7−

√
3)2

2
−

√
(
√
7 +

√
3)2

2

=

√
7−

√
3

2
−

√
7 +

√
3

2

= −
√
3


